Plot [[’ taocraw:-o’,

"taocavg', 'taoc’], [ kOraw:—-o’, 'kOavg' , 'kO'],

['klraw:—o’,

"klavg’,

k1],

[ k2raw:—-o’,

"k2avg’,

k2],

['Tblraw:—o’, 'Tblavg', 'Tbl’']]
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Warning: col [ kOraw', 'kOavg'] is missing

20 40

60

80

100

120

140

klraw
klavg
k1

¢

80

T
100

T
120

T
140

1. 50 A

1.25 4

1. 00 ~

0.75 A

k2raw
k2avg
k2

N

20 40

80

T
100

T
120

T
140

25 A

20 A

15

10 ~

Warning: col ['Tblraw’, 'Tblavg' ] is missing

—— Tbl

20

40

60

80



CF D:59 2025-06-15

30
: 0..‘ . 0. ‘. \
4)_/-94——5:\3,. \\ \/
W
S~ N~
104 obsT
——— predT
Tout | e e ——— - |m =
[} |
04 ] Ts e E——— L R Rpp—— __L_ ______________
T
0 5 10 15 20 25 30
500
400 /'
300 /
200
100 J\/\_. VMVA .vn\ é/
. A SN s
0 5 10 15 20 25 30
27.5
25.0 /A W %
T\ -/
22.5 —— P J \ / \ - = ‘/ -
_—— __ ‘~~~~-- ”
20.0 / \v N
17.5 T /___/" \\ //
15.0 \\/’
0 5 10 15 20 25 30
16
) I[\lf\ JA\
10 —t \'\‘\/ _—
\\L
8 I /
~—~
0 5 10 15 20 25 30




